[ /1 % B # ]

KnERaHH%R{SH
ER25% 9H28H 7 T
; =% = % % ” 2 (kg =
s [F(AR) 450 1,100 /00
E B i 13 48 by [ [F(HFR) 557 300 100
0 b & 48. 00 0 1, 800 400
MDA 2 2 165 by| | 2L 5, 600. 00 0 950 616
Y 59. 00 0 500 180
i KR 1 0.70 M| LG S 6, 500. 00 0 200 60
n H & 10, 000. 00 0 150 48
LAvE) (85) 2 13 @ | A F 0 180 130
s & 4, 800. 00 0 450 30
TOMDE = 17 1.30 by [EUSE 17, 100. 00 0 55 30
F - b5 680. 00 0 200 180
F % 29. 00 0 950 400
£ 5 1= 1, 300. 00 0 40 30
35 H 530. 00 0 600 100
#2520 23 0 4,400 3,810
Fai525 52 0 3,400 2,730
#2530 34 0 2,890 2,060
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